Outline and Specifications

Specifications

Size Units
Feed Length mm
Adjustment Units for Feed Pitch mm
Material Thickness*! *2 mm
Grip Force N
Material Width mm
Max. Strokes min~!
Max. Feeding Speed m/min
Feed Angle deg
Repeat Accuracy*?® mm
Pilot release deg
Input Shaft Drive Ratio (Input; Stroke)
Operating air pressure**  kPa
Lubrication System
Operating power supply
Weight kg

High speed type

Genera-purpose Type

Wide width type

VG15H VG20H VG25(T) VG50(T) VG75(T) VG100(T) VG120W
Oto 15 0to 20 Oto 25 0 to 50 0to 75 0to 100 0to 120
0.02 0.02 0.02 0.02 0.02 0.02 0.001
0t0 0.5 Oto2 Oto2 Oto2 Oto2 Oto2 Oto1
40010 1,200 400to 1,200 400to 1,200 400to 1,200 400to 1,200 300 to 3,000 600 to 2,400
8 to 50 8 to 50 810 100 810 100 81to 100 1210 120 20 to 250
3,600 1,800 1,200 1,000 700 500 250
30 30 25 30 30 30 30
156 164 165 165 165 165 160
+0.035 +0.025 +0.025 +0.025 +0.025 +0.025 +0.05
Approx. 72 Approx. 51 Approx. 49 Approx. 49 Approx. 49 Approx. 54 Approx. 49
1:3 1:2 1:1 1:1 1:1 1:1 1:2
490 to 690 490 to 690 490 to 690 490 to 690 490 to 690 490 to 690 490 to 690

Forced lubrication  Qil hath/Forced lubrication Oil bath/Forced lubrication Oil bath/Forced lubrication  Qil bath/Forced Iubrication Forced lubrication
100 VAC single phase, 50/60 Hz (115 VAC 50/60 Hz, 24 VDC)

60 60 60 60 60

Forced lubrication

150 290

*1 A material thickness adjustment dial is furnished on the high-speed type, some general-purpose types (VG___T), and the wide width type. For all other general-purpose types, material

thickness is adjusted by shims.

2 Contact Sankyo for material thicknesses of more than 1mm.

%3 The values listed here are Sankyo internal testing standards. Repeatability varies according to actual operating conditions.

x4 Compressed air with a high moisture content can lead to equipment failure. Furnish an air dryer or mist separator to prevent moisture (condensation).
Use an air filter with a porosity grade of 5 um or less.
Make sure the air supply is at the specified pressure. Insufficient pressure may cause the release action to fail.

Drive method

Variax Servo Drive system(V.S.D)

Self-Compensating Tensioning drives (S.C.T)

r

Press crankshaft

PRESS
: Resolver

.

AC Servomotor
V-

® Control panel

@ Guide base

(® Feed length counter

@ Feed length adjustment dial
® Grip force adjustment dial

® Input shaft pulley

(@ Release angle adjustment dial

Power supply lamp
(@ Release switch

Qil level

@ Air in

(2 Gripper

@ Clamper




VG15H

Dimensions [Unit:mm]
(8)M6x1 THRU §§§§ “R" 2 e .33 (2)¢6.6 THRU
C-BORE ¢11, 6.5DP
0 T o T o 0
[ o=
55 = o P9 p 55
80 - |l 80
105 st (] 5 E o LS 105
. h— q———1120
145 t
¥ 170
210——& ﬁ/ 7 © ©\e 210
235! ha
Guide plate (4)M6X1, SDP
(From the back)
Top cover Guide base Guide plate
\ = (495)
I Gripper arm
\ ] itlbbor Clamper arm
\ . . . A 'TO Clamper
S Material width guides FEED PITCH e
\ counter .
. . Qil in
! Material guide Rc1/4
Back cover 310
/ Air clamp
T ) 215(Feed level) 215 4% 215
[
= ‘ 180
(4)M10x1.5,16DP | ¢ ofI2 145 | <=m B
+, & F’ (g
A mmp f ﬁ\ EE 80 m—
\Eﬁ H Air in
+ % Rcl/4
oY 1S . — 20
0
(4M10x1.5, 20DP K
°8 5 ¢ 588g 3 g 3 gRBE & Rz \ &
N \6 @ Control panel
—— —— Qil out
Rc1
(6)M10x1.5, 20DP O/_/_pﬂ e
(6)M10x1.5, 20DP
- /=N
_DJ‘ JR——
182
160 /|
Arrow 135 \‘\t @ _ et 150 Arrow
view A 105 ( view B
U }/ .
o
% IS £ +| +f 15
0 0
°] €2 8 8 TR AT
Specification table
Characteristic Data Characteristic Data
Feed length 0to15 [mm] Operating air pressure 490 to 690 [kPa]
Adjustment Units for Feed Pitch 0.02 [mm] Operating power supply 100 VAC single phase [V]
Material thickness 0to 0.5 [mm] Product weight 60 [kg]
Gripping force 400 to 1,200 [N]
Material width 8t0o 50 [mm] Recommended Iubrication oil Shell Omala S2 G 150
Maximum number of strokes 3,600 [min] Lubrication system Forced lubrication
Maximum feed speed 30 [m/min] A gt ptne) clies -
Feed Angle 156 [deg] e sl Srasllealier 04 [e/min]
Repeatability +0.035 [mm] Housing color 2.5Y9/02
Pilot Release Approx. 72 [deg] Operation panel color 2.5Y9/02
Air Release Full adjustable 1[N-m] = 0.102[kgf-m]

Input Shaft Drive Ratio(Input; Stroke)

1:3*

*The VG15H performs three feed operations per turn of the input shaft,
reducing the input shaft drive speed to 1/3 of normal.



Maximum feed capability chart

Timing chart

Maximum feed capability:30m/min

\ \
N\
\ \
10 \\4
9 1
\ S
8 &
7 z\
= \
E° 2\
=
£ 5 &
£
5 \
o 4 z
= %
o [
o 3
2
1
o o o o O O o o
o o o o O O O O
— w o nun o uw o O
— - N N M ™

Number of strokes (min)

M=TXWXLXp
M:Mass of material that can be transferred in a feeding operation [kg]
T:Material thickness [m]
W:Material width [m]
L:Total length of material between material loops [m]
p:Material density [kg/m®]

UDP - e e
Press .
BDP 180° 360° 180°
0)
0~15mm
Feed
180° 258° 282° 78°102° 180°
0.3mm
Gripper
0 p ;
1800 231" 279 180°
0.3mm
Clamper
0
180° 261° 309 517 99 180°
0.2 Y &
.2mm =]
— k]
Release \/ ~1 8
S| ¢
3| &
0 8
180° 180°
Release angle Approx. 72°

The release angle can be set from 0° to 360° regardless of the timing of
the other motions.

However, the pilot release function is enabled in the stop area. If it is set
to the feed area, the materials will be fed without a release operation.
These timings can be checked on the index wheel.

Oil

pump

Spacer for plate thickness adjustment

Return inlet
Rc1
Pump specifications
Discharge pressure 0.5 MPa
o 50Hz 1400rpm 3.07£/min
N 60Hz 1600rpm 3.50£/min
Tank capacity 14.30
Lubricant working 2
viscosity range 2010 150mn’/s
350 (82) ingle-
Power supply ;83 w\g gﬁggase
Discharge outlet
Rc1/4
5=
| —
T
Discharge
outlet Return inlet
§ Rc1/4 Ret
© — —
@
€
8
o
@
2

260

Circuit diagram
380

Drain
Rc1/4

Spacer used by the gripper and clamper

RijN i
Bl

20

6.6

10 25

60

ts=2+(CM)—T

ts:Spacer thickness [mm]
CM:Compression margin[mm]
(Standard value 0.07 mm)
T:Material thickness[mm]




VG20H

Dimensions [Unit:mm]
@vex1 THRU  88BB R 8 e o8R8 (2)$6.6 THRU
T C-BORE ¢11, 6.5DP
0 —_ 0
[Clis=io © ©
69
55 &
80 IR = P | bid ¢ 80
105 - == O 4 105
© i T ~— 120
145 1—— T a=s -
185 oF e 185
210 N © ° °\e 210
235 2
(4)M6x1, 5DP
(From the back)
Top cover _ wo5) Guide plate i e Guide plate
\\
AN w0 )
. g @ Gripper arm
\ Material width guides FEED PITCH f Gripper
\ counter
‘\ Material guide Clamper arm
Back cover ! 310 7A_ T
h ir clamp
1 [ 71—
@ =
- T ) 215(Feed level) 215 215
i 4
(4)M10x1.5, 16DP 145 20
- @ i o 2 <= B
A = C FF/ T
80 - Air in
Rc1/4
it 15 —
it A4 0 o
(4)M10x1.5, 20DP J K
A \5/ & Control panel
oil in — —_ Qil out
Rci
Rc3/4 O O
(6)M10x1.5, 20DP _/_%E _ 5
(6)M10x1.5, 20DP
- =N
o] _
= - 182
Arrow 160 % %w 3 - Arrow
view A 135 % @ view B
105
? L
25 &
°g ©2 g 8 g8 X ©889R°
- — [ - -
Specification table
Characteristic Data Characteristic Data
Feed length 0to20 [mm] Operating air pressure 490 to 690 [kPa]
Adjustment Units for Feed Pitch 0.02 [mm] Operating power supply 100 VAC single phase [V]
Material thickness 0to2 [mm] Product weight 60 [kg]
Gripping force 400 to 1,200 [N]
Material width 8t0 50 [mm] Recommended Iubrication oil Shell Omala S2 G 150
Maximum number of strokes 1,800 [min] Lubrication system Forced lubrication
Maximum feed speed 30 [m/min] LT e clies —
Feed Angle 164  [deg] e sl Srasllealier 04 [e/min]
Repeatability +0.025 [mm] Housing color 2.5Y9/02
Pilot Release Approx. 51 [deg] Operation panel color 2.5Y9/02
Air Release Full adjustable 1[N-m] = 0.102[kgf-m]
Input Shaft Drive Ratio(lnput: Stroke) 1:2% *The VG20H performs two feed operations per turn of the input shaft,

reducing the input shaft drive speed to 1/2 of normal.



VG20H

Maximum feed capability chart Timing chart
Maximum feed capability:30m/min UDP oo oo ~_
20 [ Press '
z\\ |
15 o BDP ‘
\ \ 2 180° 360° 180°
VENVT )
o
\ ES 0~20mm
F V& &N
° \\\\07777 \ | Feed
8 2 \
7 Z \® 0
—_ \\, 180° 262° 278° 82" 98° 180°
E 6 2
E &
£ 5 0.3mm |- r
eTo] "
CIC) 4 Gripper '
hel |
[0} 0
(o) o 244 278 o
L 3 180 180
0.3mm
2
Clamper
0
180° 264°  298° 62" 96° 180°
0.3 1 Eﬂ
.amm E
! o o o o o — &
= 2 8 33 Release =18
. 2 = 2 =
Number of strokes (min) Eres e S
M=TXWXLXp Release angle Approx. 51
M:Mass of material that can be transferred in a feeding operation [kg] The release angle can be set from 0° to 360° regardiess of the timing of
T:Material thickness [m] the other motions
vlf_:‘_";:’:;;fz [r;na]\terial between material loops [m] However, the pilot release function is enabled in the stop area. If it is set
:Material density [ke/m?] P to the feed area, the materials will be fed without a release operation.
p: v ke These timings can be checked on the index wheel.

Oil pump Spacer for plate thickness adjustment
Return inlet
Rct .
. Spacer used by the gripper and clamper
Pump specifications
Discharge pressure 0.5 MPa
o 50Hz 1400rpm 3.07£/min o
& 60Hz 1600rpm 3.50¢/min o
Tank capacity 14.32 oo[
Lubricant working 2
viscosity range 2010150 m/s 6.6
350 (82) 100 VAC, single-phase
Power SupplY 200 yAC 3 phase 10 25
\ 60
Discharge outlet
Rc1/4 ts=4+(CM)—T
S5
= ts:Spacer thickness [mm]
CM:Compression margin[mm]
. (Standard value 0.07 mm)
Eﬂ?fgt]a'ge Return inlet T:Material thickness[mm]
™ Rcl1/4 Rcl
© = =
@
<
§
o
[}
2]
o
©
N
Circuit diagram
380
Drain
Rcl/4




VG25/VG25T

Dimensions

[Unit:mm]
(4M6Xx1 THRU §§§ (2)¢6.6 THRU
(4)M6X1, 5DP C-BORE ¢11, 6.5DP
(From the back) 0 —0
55) - 55
80 & I 80
108 1%
145 y
170
185 = : I-185
210 4 - 210
235
*\TOD SOve Guide plate ; 4;M6><1, 5DP
= (495) (From the back)
~. Guide base, Guide base Guide plate
AN
K FEED PITcH  Gribper arm
\ Material width guides counter Gripper
Back cover ‘\‘ Material guide Clamper arm
\ 1 310 ==L/ Clamper
’, Air clamp
: : ) [ e
215(Feed level) o 1 }
5 |y, o
L] o= A
& 145
(4)M10x1.5, 20DP — O
sz o 1 -
80
A » T_l
— Air in
m J 85 Rc1/4
(4)M10x1.5, 20DP /I ‘ ‘ ‘ ‘
A T T r T
@ ® Control panel
Qil bath lubrication:Qil filler
Forced lubrication:Qil supply port —_ —_ Forced lubrication:Oil outlet
Rc3/4 0 Rct
(6)M10x1.5, 20DP (y_/_ﬁ — (CIMIOSIES R0
Arrow — S w—— Arrow
view A \ = view B 182
160 N &) @ 150
135 % @ Al
105 &
. u
20 b
0 il 15
4 |
° R 2 8 & Q88X 2 BE8IR°
- e N AN — -
Specification table
Characteristic Data Characteristic Data
Feed length 0to25 [mm] Operating air pressure 490 to 690 [kPa]
Adjustment Units for Feed Pitch 0.02 [mm] Operating power supply 100 VAC single phase [V]
Material thickness Oto2 [mm] Product weight 60 [kgl
Gripping force 400 to 1,200 [N]
Material width 810 100 [mm] Recommended lubrication oil Shell Omala S2 G 150
Maximum number of strokes 1,200 [min™'] Lubrication system 0il bath/Forced lubrication
Maximum feed speed 25  [m/min] éﬁ"gg{’ﬁ .%fb',?é‘;i?ér! oil for 1.4 [£]
Feed Angle 165 [deg] el Sr el 04 [e/min]
Repeatability +0.025 [mm] Housing color 2.5Y9/02
Pilot Release Approx. 49 [deg] Operation panel color 2.5Y9/02
Air Release Full adjustable 1[N-m] = 0.102[kgf-m]

Input Shaft Drive Ratio(Input; Stroke)

141



VG25

Maximum feed capability chart Timing chart
UDP [ s ~N
Press |
BOP a0 360° 180°
©)
0~25mm
Feed
Maximum feed capability:25m/min
S 25 \ \\ 0.6mm
£ 20 2\
c A \\, Gripper
E N
2\ 0
2 2\& 180 2425 2775 180°
3 2
[} w©
(0]
S ‘ 0.6mm
10
8 8 8 8 Clamper
— 'o) o N
. 0
Number of strokes (min~") 180° 2675° 3025° 575 925 180°

0.6mm /:

Release \/
M=TXWXLXp 0

180° 180°
Release angle Approx. 49°

0.07
Compression margin

M:Mass of material that can be transferred in a feeding operation [kg]
T:Material thickness [m]

W:Material width [m]

L:Total length of material between material loops [m]

p:Material density [kg/m®]

The release angle can be set from 0° to 360° regardless of the timing of
the other motions.

However, the pilot release function is enabled in the stop area. If it is set
to the feed area, the materials will be fed without a release operation.
These timings can be checked on the index wheel.

Oil pump Spacer for plate thickness adjustment
Return inlet
Rct .
. Spacer used by the gripper and clamper
Pump specifications
Discharge pressure 0.5 MPa
o 50Hz 1400rpm 3.07£/min o
& 60Hz 1600rPm 3.50/min — o
Tank capacity 14.30 oo[
Lubricant working o0 5 150 /s
viscosity range 6.6
350 (82) 100 VAC, single-phase
Power SupplY 200 yAC 3 phase 10 25
\ 60
Discharge outlet
Rcl/4 ts=4+(CM) =T
S5
—] tg'Spacer thickness [mm]
CM:Compression margin[mm]
_ (Standard value 0.07 mm)
E&?gt]arge Return inlet T:Material thickness[mm]
§ Rc1/4 Rct
© = =
@
<
N
Qo
[}
2]
o
©
N
Circuit diagram
380
Drain
Rc1/4




VG50/VG50T

Dimensions

Top cover

[Unit:mm]

N

Back cover

)

(MBx1 THRU 88 E 8 e .93 (2)$6.6 THRU
(4)MBX1, 5DP I_ T C-BORE ¢11, 6.5DP
From the back
( ) 9 @
55 |— 55]
80 — 180
105
105 193
1457
170
185 = Lo
210 @) —210
235
Guide plate 4)M6x1, 5DP
(495) (From the back)
Guide base Guide base Guide plate
Gripper arm
FEED PITCH
Material width guides counter Gripper
Material guide Clamper arm
310 ==/, Clamper
Air clamp (
! | s o
I 215(Feed level) | | =
= Variax (o] |2
velle

145
(4)M10x1.5, 20DP
/ FF( « B
80
A =
Air in
f I 85 f R|c1l/4
(4)M10x1.5, 20DP /I ‘ ‘ ‘ ‘ ‘
éL‘o ~ 1o} r\‘o u‘ocq = & > %1000 Drain Qowo
e T RQIg < ¢ & ]R &R Rc1/2 SO
[3Y) (',_) (o]
~ Control panel
Qil bath lubrication:Qil filler
Forced lubrication:Oil supply port e == Forced lubrication:Oil outlet
Rc3/4 Rc1
0 0 E (6)M10x1.5, 20DP
(6)M10x1.5, 20DP —
Arrow = —&
view A \ -
160 ) /|
135 \¢ M@ /| =
105 e
., u
20
; JW = 5
Al ®
8 22 8 § §8% 2889R°
Specification table
Characteristic Data Characteristic Data
Feed length 0to 50 [mm] Operating air pressure 490 to 690 [kPa]
Adjustment Units for Feed Pitch 0.02 [mm] Operating power supply 100 VAC single phase [V]
Material thickness Oto2 [mm] Product weight 60 [kg]
Gripping force 400 to 1,200 [N]
Material width 81to 100 [mm] Recommended Iubrication oil Shell Omala S2 G 150
Maximum number of strokes 1,000 [min™] Lubrication system il bath/Forced lubrication
Maximum feed speed 30 [m/min] I e eller 1.4 4]
Feed Angle 165 [deg] forced lubrcation” 0.4 [&/minl
Repeatability +0.025 [mm] Housing color 2.5Y9/02
Pilot Release Approx. 49 [deg] Operation panel color 2.5Y9/02
Air Release Full adjustable 1[N-m] = 0.102[kgf-m]

Input Shaft Drive Ratio (Input: Stroke)

111




G50

Maximum feed capability chart Timing chart
UDP [~ e ——_————
Press !
BOP ‘
180° 360° 180°
(07
0 Maximum feed capability:30m/min 0~50mm
5
\ Feed
_. 40
IS
S
£ 30
£
!‘1:0 0.6mm
K%
Gripper
g 2 PP
(0]
L 0
180° 2425° 2775 180°
0.6mm
10 al
o o o o o o O OO0 amper
o o o o (=) o O O0Oo

180° 267.5° 3025 575" 925 180°

0.6mm /:

Release \/
M=TXWXLXp 0

180° 180°
Release angle Approx. 49°

Number of strokes (min)

0.07
Compression margin

M:Mass of material that can be transferred in a feeding operation [kg]
T:Material thickness [m]

W:Material width [m]

L:Total length of material between material loops [m]

p:Material density [kg/m®]

The release angle can be set from 0° to 360° regardless of the timing of
the other motions.

However, the pilot release function is enabled in the stop area. If it is set
to the feed area, the materials will be fed without a release operation.
These timings can be checked on the index wheel.

Oil pump Spacer for plate thickness adjustment
Return inlet
Rct .
. Spacer used by the gripper and clamper
Pump specifications
Discharge pressure 0.5 MPa
o 50Hz 1400rpm 3.07£/min o
N 60Hz 1600rpm 3.504/min — N
Tank capacity 14.32 oo[
Lubricant working
viscosity range 20 to 150 mm?/s 66
100 VAC, single-phase
Power SUpPIY 200 yaC, 3phase 10 25
\ 60
Discharge outlet
Rc1/4 ts=4+((CM)—T
T ts:Spacer thickness [mm]
CM:Compression margin[mm]
) (Standard value 0.07 mm)
g’lﬂ?@?arge Return inlet T:Material thickness[mm]
S Rc1/4 Ret
© — —
Q
©
8
o
(2]
©

260

Circuit diagram
380

Drain
Rc1/4

10



VG75/VG75T

Dimensions [Unitmm]
(4)M6X1 THRU §§@§ E 3 © .23 (2)¢6.6 THRU
(4AMBX1, 5DP ‘ % C-BORE ¢11, 6.5DP
(From the back) ’— I
0 -0
|— ' 55
——180
105
120
170
; 185
® L 210
Top cover Guide plate ; (4)MBx1, 5DP
\ (495) (From the back)
~. Guide base, Guide base Guide plate
h FEED piTcH  CGribper am
\ Material width guides counter Gripper
\
Back cover \‘ Material guide Clamper arm
\ f gile ==L4 Clamper
! Air clamp 1/
@ ! [lli(C5 o
— 1 215(Feed level) T 1 #
: = =
RS ] |
4 145
(4M10x1.5, 200P | 7, 5
w == -
A mmp
Air in
i 2)5 Rc1/4

(4M10x1.5, 20DP /I ‘
T

145
207
220 —
245 1
266.6

°8 & 5 .
< ©
\5, @ Control panel
Oil bath lubrication:Qil filler
Forced lubrication:Oil supply port e == Forced lubrication:Qil outlet
Rc3/4 Re1
O O/ (6)M10x1.5, 20DP
(6)M10x1.5, 20DP —
Arrow | —AA EE
view A —
— Jaa 182
135 \% =0
105
©
20
= T
Al ®
°] R 2 g § § § & 2 38%K°
Specification table
Characteristic Data Characteristic Data
Feed length 0to75 [mm] Operating air pressure 490 to 690 [kPa]
Adjustment Units for Feed Pitch 0.02 [mm] Operating power supply 100 VAC single phase [V]
Material thickness Oto2 [mm] Product weight 60 [kg]
Gripping force 400 to 1,200 [N]
Material width 81to 100 [mm] Recommended Iubrication oil Shell Omala S2 G 150
Maximum number of strokes 700 [min™] Lubrication system Oil bath/Forced lubrication
Maximum feed speed 30 [m/min] (L e e el er 1.4 ]
Feed Angle 165  [deg] el e 04  [/min]
Repeatability +0.025 [mm] Housing color 2.5Y9/02
Pilot Release Approx. 49 [deg] Operation panel color 2.5Y9/02
Air Release Full adjustable 1[N-m] = 0.102[kgf-m]

Input Shaft Drive Ratio (Input: Stroke)

111

11




Maximum feed capability chart

Timing chart

Maximum feed capability:30m/min

75
70 \\:\\
60 \
0 %)
‘0
= &
40 |
E R
_‘& >
AC) 30 ‘
3 K
R ke
%
20
10
o o o o o o O
o o o o (=] o O
— ~ [} < o © K

Number of strokes (min)

M=TXWXLXp
M:Mass of material that can be transferred in a feeding operation [kg]

T:Material thickness [m]

W:Material width [m]

L:Total length of material between material loops [m]
p:Material density [kg/m®]

UDP [~ e e
Press .
BDP :
180° 360° 180°
0
0~75mm
Feed
180° 2625° 2715° 825" 97.5° 180°
06mm |- -
Gripper
0
180° 180°
0.6mm
Clamper
0
180° 267.5° 302.5° 575 925° 180°
0.61 g
.6mm 1 8
— k]
Release \/ ~1 8
S| ¢
3| &
15
O j=3
180° 180 <
Release angle Approx. 49°

The release angle can be set from 0° to 360° regardless of the timing of
the other motions.

However, the pilot release function is enabled in the stop area. If it is set
to the feed area, the materials will be fed without a release operation.
These timings can be checked on the index wheel.

Oil pump

Spacer for plate thickness adjustment

Return inlet
Rc1

Pump specifications

Discharge pressure 0.5 MPa
o 50Hz 1400rpm 3.07£/min
N 60Hz 1600rpm 3.50£/min
Tank capacity 14.30
Lubricant working 2
viscosity range 20 to 150 mm?/s
350 (82) ingle-
Power supply ;83 w\g gﬁggase
Discharge outlet
Rc1/4
S=0
—
Discharge .
outlet Return inlet
§ Rc1/4 Ret
© — —
@
€
8
o
@
2
o
©
«
Circuit diagram
380
Drain
Rc1/4

12

Spacer used by the gripper and clamper

10 25

20

6.6

60

ts=4+(CM)—T

ts:Spacer thickness [mm]
CM:Compression margin[mm]
(Standard value 0.07 mm)
T:Material thickness[mm]




VG100/VG100T

Dimensions

Top cover

530

[Unit:mm]

o
o)
(4)M6x1, 7DP
(From the back)

611 245 ——

L
)

0

' 93

' 130
! 145
' 195
I 210

270

(8)M6x1, 7DP
(From the back)

400

A =)

285(Feed level)

FEED PITCH
counter

Roller
Guide base

Clamper

Material bending detection guide

105

$170
$158

151~ FF

170 +—-

Arrow
view A ;

220 &

Specification table

Characteristic

Feed length

Adjustment Units for Feed Pitch

Material thickness

Gripping force

Material width

Maximum number of strokes

Maximum feed speed

Feed Angle

Repeatability

Pilot Release

Air Release

Input Shaft Drive Ratio(Input; Stroke)

320
345

=7

(4)M16%2, 25DP

Data

0 to 100
0.02

Oto2

300 to 3,000
1210 120
500

30

165

+0.025
Approx. 54
Full adjustable
11

[mm]
[mm]
[mm]
[N]
[mm]
[min™']
[m/min]
[deg]
[mm]

[deg]

13

530

446

400

288

o

074 , da

Py
A

—~—1} 273

240

—7 185

40

0

Characteristic
Operating air pressure
Operating power supply
Product weight

Recommended Iubrication oil

Lubrication system

Amount of internal oil for
oil bath lubrication

Amount of oil supplied for
forced Iubrication

Housing color
Operation panel color

130
20

(4)M16X2, 25DP

Data

490 to 690 [kPa]
100 VAC single phase [V]

150 [kel

Shell Omala S2 G 150

Oil bath
1.4 [£]
— [£/min]
2.5Y9/02
2.5Y9/02
1[N-m] = 0.102[kgf-m]



Maximum feed capability chart

Timing chart

Maximum feed capability:30m/min

100
90

\

80

70

60

50

40

30

Feed length(mm)

20

o
o

Number of strokes

M=TXWXLXp

o
o
N

300

—

o o
o (=)
< 0

min~")

M:Mass of material that can be transferred in a feeding operation [kg]

T:Material thickness [m]

W:Material width [m]

L:Total length of material between material loops [m]
p:Material density [kg/m?]

UDP - e e
Press .
BDP :
180° 360° 180°
(0
0~100mm
Feed
0
180° 2625° 2775° 825" 97.5° 180°
1.0mm |-
Gripper
0
180° 180°
1.0mm
Clamper
0
180° 267.5° 3025 575° 925° 180°
1.0 Y g
.Omm ]
— s
Release \/ ~1 8
S| ¢
S| &
£
0 j=3
180° 180 ©
Release angle Approx. 54°

The release angle can be set from 0° to 360° regardless of the timing of
the other motions.

However, the pilot release function is enabled in the stop area. If it is set
to the feed area, the materials will be fed without a release operation.
These timings can be checked on the index wheel.

Oil

pump

Spacer for plate thickness adjustment

Return inlet
Rc1

210

Pump specifications

Discharge pressure 0.5 MPa

50Hz 1400rpm 3.07£/min

60Hz 1600rpm 3.50£/min

Tank capacity 14.30

(688.2)

(82)

Lubricant working

2,
viscosity range 2010 150mn’/s

100 VAC, single-phase

Power supply 200 yAC 3 phase

Discharge outlet
Rc1/4

260

380

(530.2)

Discharge .
outlet Return inlet
Rc1/4 Rct

Drain

Rc1/4

Circuit diagram

14

Spacer used by the gripper Spacer used by the clamper

=
D
=

E i

ool || °

ts=4+((CM)—T
ts:Spacer thickness [mm]

CM:Compression margin[mm]
(Standard value 0.07 mm)
T:Material thickness[mm]




VG120W

Dimensions

Top cover

g

[Unit:mm]

- oOWVWWOo® )
(5] O TN < 0w no
B IITOD - SR R
ety ‘ .
/ | |
[ |
I | I e I -
e o T 9 o 1 11
60 g
| g | g
4 41
| |
| |
Tt == - —" 250
i [ i ]
q! q!
L ] e
o) op \
(XY o) o \ o © %e 498
Guide plate \(8)M8X1 .25 THRU Guide base Guide plate
C-BORE ¢11, 6.5DP
Gripper Clamper
450 FEED PITCH
counter
[ 360(Feed level) 17] 17]
345 [ ]__—1 345
Airin \Variax veizow 529
PT1/4 g 6
2 E A 239
)
E
. 50 o <=m B
125
| ANES @ ©
\@
®
I
0 k i . 0
- 00 o o oo\ © ro
003 ®© N S N&
B IIT O (\J
(8)M8x1.25 THRU
C-BORE ¢11, 6.5DP
PT1/2

Oil in

[ lo © of

le @ of

PT1
Qil out
Arrow
view A 165
125
60 4 -
o
Specification table

Characteristic Data
Feed length 0to 120 [mm]
Adjustment Units for Feed Pitch 0.001  [mm]
Material thickness Oto1 [mm]
Gripping force 600 to 2,400 [N]
Material width 20 t0 250 [mm]
Maximum number of strokes 250 [min™]
Maximum feed speed 30 [m/min]
Feed Angle 160 [deg]
Repeatability +0.05 [mm]
Pilot Release Approx. 49 [deg]
Air Release Full adjustable
Input Shaft Drive Ratio (Input; Stroke) 1:2

15

=l:=——l;=

Arrow
view B

500 —
455
386

250 4——

Characteristic
Operating air pressure
Operating power supply
Product weight

Recommended Iubrication oil

Lubrication system

Amount of internal oil for
oil bath lubrication

Amount of oil supplied for
forced Iubrication

Housing color
Operation panel color

6 o \(4M20x2.5, 30DP
<

N
Data
490 to 690 [kPa]
100 VAC single phase [V]
290 [kg]

Shell Omala S2 G 150
Forced Iubrication

- (2]

0.4 [£/min]
2.5Y9/02
2.5Y9/02

1[N-m] = 0.102[kgf-m]



Maximum feed capability chart

VG120W

Timing chart

Maximum feed capability:30m/min
AN
110 A
100 \\ %)
90 N
80
4’\
70

120

)
%

a

>
%

60

50

40

30

Feed length(mm)

20

100

(=] o
0 o
— N

250

Number of strokes (min)
M=TXWXLXp
M:Mass of material that can be transferred in a feeding operation [kg]
T:Material thickness [m]
W:Material width [m]
L:Total length of material between material loops [m]
p:Material density [kg/m®]

upbpP

Press

BD.P
180°

0~120mm

Feed

0.8mm

Gripper

218°

242

180° 180°

0.8mm

Clamper

0

180°

304°

0.8mm

Release

0.07
Compression margin

0
180° 180°

Release angle Approx.49°

The release angle can be set from 0° to 360° regardless of the timing of
the other motions.

However, the pilot release function is enabled in the stop area. If it is set
to the feed area, the materials will be fed without a release operation.
These timings can be checked on the index wheel.

Oil pump

Spacer for plate thickness adjustment

Return inlet
Rc1

Pump specifications
0.5 MPa
3.07£/min
3.50£/min
14.3¢

Discharge pressure
50Hz 1400rpm
60Hz 1600rpm
Tank capacity

210

Lubricant working
viscosity range

20 to 150 mm?/s

(82) 100 VAC, single-phase

200 VAC, 3-phase

Power supply

Discharge outlet
Rc1/4

Discharge
outlet
Rc1/4

Return inlet
Rc1

(688.2)

(530.2)

260

Circuit diagram
380

Drain
Rc1/4

16

Spacer used by the gripper and clamper

o
|

- 38

18 ——

28

ts=2+((CM)—T
ts:Spacer thickness [mm]

CM:Compression margin[mm]
(Standard value 0.07 mm)
T:Material thickness[mm]




	00
	01
	02
	03
	04
	05
	06
	07
	08
	09
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	21
	22
	23



